

SOME RECURRENCE RELATIONS FOR q -BERNOULLI NUMBERS AND POLYNOMIALS

YAHUI YU AND YUAN HE

ABSTRACT. In this paper, we perform a further investigation for the q -analogues of the classical Bernoulli numbers and polynomials. By applying summation transform techniques, we establish some new recurrence relations for these type numbers and polynomials. We also present some illustrative special cases as well as immediate consequences of the main results.

1. INTRODUCTION

In his oft-cited papers [4, 5], Carlitz firstly brought out the concepts of the q -extensions of the classical Bernoulli numbers and polynomials. Since then, many authors have studied Carlitz's q -Bernoulli numbers and polynomials and discovered that these numbers and polynomial possess many surprising properties in many different areas of mathematics; see, for example, [8, 11, 15, 16, 17, 18, 19, 20, 21, 26, 27, 29]. This paper is primarily concerned with the q -analogues of the classical Bernoulli numbers and polynomials considered by Kupershmidt [23], Kim and Kim [22] different from Carlitz's q -Bernoulli numbers and polynomials. We establish some new recurrence relations for them following the recent work of Alzer and Kwong [3]. These results are the corresponding generalizations of some known formulae on the classical Bernoulli numbers and polynomials.

We adopt the common notation on q -series in the standard books [9]. Throughout this paper, the parameter q is a fixed nonzero complex number with $|q| < 1$. The q -shifted factorial $(a, q)_n$ is defined for positive integer n and complex number a by

$$(a; q)_0 = 1, \quad (a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k), \quad (a; q)_{-n} = \frac{1}{(aq^{-n}; q)_n}. \quad (1.1)$$

The q -number factorial $[n]_q!$ is defined for positive integer n by

$$[0]_q! = 1, \quad [n]_q! = [1]_q [2]_q \cdots [n-1]_q [n]_q, \quad (1.2)$$

with $[x]_q$ being the q -number given by $[x]_q = (1 - q^x)/(1 - q)$ for complex number x . The q -binomial coefficient (also called Gaussian binomial coefficient) $\begin{bmatrix} n \\ k \end{bmatrix}_q$ is defined for non-negative integer n by

$$\begin{bmatrix} n \\ k \end{bmatrix}_q = \frac{(q; q)_n}{(q; q)_k (q; q)_{n-k}} = \frac{[n]_q!}{[k]_q! \cdot [n-k]_q!} \quad (k = 0, 1, \dots, n). \quad (1.3)$$

2010 Mathematics Subject Classification. 11B68, 05A19, 33D15.

Keywords. Bernoulli numbers and polynomials; q -analogues; q -Bernoulli numbers and polynomials; Recurrence relations.

The q -analogue of exponential function $e_q(t)$ is defined by (see, e.g., [12, 13])

$$e_q(t) = \prod_{k=0}^{\infty} \frac{1}{(1 - (1 - q)q^k t)} = \sum_{n=0}^{\infty} \frac{t^n}{[n]_q!} \quad (|t| < 1/|1 - q|). \quad (1.4)$$

We now turn to the q -analogues of the classical Bernoulli numbers and polynomials. These type q -Bernoulli numbers $B_{n,q}$ and q -Bernoulli polynomials $B_{n,q}(x)$ are usually defined by the q -analogue of exponential function (see, e.g., [22, 23]):

$$\frac{t}{e_q(t) - 1} = \sum_{n=0}^{\infty} B_{n,q} \frac{t^n}{[n]_q!} \quad \text{and} \quad \frac{te_q(xt)}{e_q(t) - 1} = \sum_{n=0}^{\infty} B_{n,q}(x) \frac{t^n}{[n]_q!}, \quad (1.5)$$

respectively. Obviously, the case $q \rightarrow 1$ in (1.5) yields the classical Bernoulli numbers B_n and Bernoulli polynomials $B_n(x)$ given by

$$\frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!} \quad \text{and} \quad \frac{te^{xt}}{e^t - 1} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}. \quad (1.6)$$

In fact, the above q -Bernoulli polynomials can also be defined recursively by the q -Bernoulli numbers, as follows, (see, e.g., [22])

$$B_{n,q}(x) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q x^{n-k} B_{k,q} \quad (n \geq 0), \quad (1.7)$$

with the q -Bernoulli numbers obey the recurrence relation:

$$B_{0,q} = 1, \quad \sum_{k=1}^n \begin{bmatrix} n \\ k \end{bmatrix}_q \frac{1}{[k+1]_q} B_{n-k,q} = -B_{n,q} \quad (n \geq 1). \quad (1.8)$$

This paper is organized as follows. In the second section, we give some new recurrence relations for the q -Bernoulli numbers and polynomials described in (1.5), and deduce some known formulae including Alzer and Kwong [3] on the classical Bernoulli numbers and polynomials. The third section is contributed to the proof of the main result by applying summation transform techniques.

2. THE RESTATEMENT OF RESULTS

Like the definition of the q -number shifted factorial stated in [9], we use the following notation: $[a]_{q;0} = 1$ and

$$[a]_{q;n} = [a]_q [a+1]_q \cdots [a+n-1]_q, \quad [a]_{q;-n} = \frac{1}{[a-1]_q [a-2]_q \cdots [a-n]_q}, \quad (2.1)$$

for positive integer n and complex number a . We present our results, as follows.

Theorem 2.1. Let m, n be nonnegative integers and r be any integer. Then, for q -commuting variables x and y such that $xy = qyx$,

$$\begin{aligned} & \sum_{k=0}^m \begin{bmatrix} m \\ k \end{bmatrix}_q x^{m-k} q^{-nk - \binom{n+1}{2}} \frac{B_{n+k+r,q}(y)}{[n+k+1]_{q;r}} \\ &= \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q (-x)^{n-k} q^{-n(m+k+1) + \binom{k+1}{2}} \frac{B_{m+k+r,q}(x+y)}{[m+k+1]_{q;r}} \\ &+ (-1)^{n+1} x^{m+n+1} \frac{[m]_q! \cdot [n]_q!}{[m+n+r]_q!} \sum_{i=0}^{r-1} \begin{bmatrix} m+n+r \\ i \end{bmatrix}_q \begin{bmatrix} n+r-1-i \\ n \end{bmatrix}_q \\ &\quad \times x^{r-1-i} B_{i,q}(y). \quad (2.2) \end{aligned}$$

We next show some special cases of Theorem 2.1. In view of (1.3) and (2.1), we get that for non-negative integers n, k, r ,

$$\frac{1}{[n+k+1]_{q;-r}} = [n+k]_q [n+k-1]_q \cdots [n+k+1-r]_q = [r]_q! \cdot \begin{bmatrix} n+k \\ r \end{bmatrix}_q. \quad (2.3)$$

Clearly, the case r being non-negative integer in Theorem 2.1 means the second summation of the right hand side of (2.2) vanishes. It follows from (2.3) and Theorem 2.1 that we state the following result.

Corollary 2.2. Let m, n, r be nonnegative integers. Then, for q -commuting variables x and y such that $xy = qyx$,

$$\begin{aligned} & \sum_{k=0}^m \begin{bmatrix} m \\ k \end{bmatrix}_q \begin{bmatrix} n+k \\ r \end{bmatrix}_q x^{m-k} q^{-nk - \binom{n+1}{2}} B_{n+k-r,q}(y) \\ &= \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q \begin{bmatrix} m+k \\ r \end{bmatrix}_q (-x)^{n-k} q^{-n(m+k+1) + \binom{k+1}{2}} B_{m+k-r,q}(x+y). \quad (2.4) \end{aligned}$$

Since the classical Bernoulli polynomials satisfy the different equation, as follows, (see, e.g., [1])

$$B_n(x+1) - B_n(x) = nx^{n-1} \quad (n \geq 0), \quad (2.5)$$

so by taking $q \rightarrow 1, m = n, x = 1$ and then substituting x for y in (2.4), we get that for nonnegative integers m, r ,

$$\begin{aligned} & \sum_{\substack{k=0 \\ k+m \text{ odd}}}^{m-1} \binom{m}{k} \binom{m+k}{r} B_{m+k-r}(x) \\ &= \frac{1}{2} \sum_{k=0}^m \binom{m}{k} \binom{m+k-1}{r} (-1)^{m-k} (m+k) x^{m+k-r-1}, \quad (2.6) \end{aligned}$$

which was discovered by Alzer and Kwong [3] and used to deduce some interesting identities for the classical Bernoulli numbers including the result:

$$\sum_{\substack{k=0 \\ k+m \text{ odd}}}^{m-1} \binom{m}{k} \binom{m+k}{r} \binom{m+k-r}{j} B_{m+k-r-j} = 0 \quad (0 \leq j \leq m-2-r), \quad (2.7)$$

which extends two formulae due to Kaneko [14], Chen and Sun [7], who proved (2.7) for the special cases $j = 1, r = 0$ and $j = 3, r = 0$, respectively.

On the other hand, since $B_{0,q}(x) = 1$, so by setting $r = 1$ in Theorem 2.1, we immediately obtain the following result.

Corollary 2.3. *Let m, n be nonnegative integers. Then, for q -commuting variables x and y such that $xy = qyx$,*

$$\begin{aligned} \sum_{k=0}^m \begin{bmatrix} m \\ k \end{bmatrix}_q x^{m-k} q^{-nk - \binom{n+1}{2}} \frac{B_{n+k+1,q}(y)}{[n+k+1]_q} \\ = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q (-x)^{n-k} q^{-n(m+k+1) + \binom{k+1}{2}} \frac{B_{m+k+1,q}(x+y)}{[m+k+1]_q} \\ + (-1)^{n+1} x^{m+n+1} \frac{[m]_q! \cdot [n]_q!}{[m+n+1]_q!}. \end{aligned} \quad (2.8)$$

It becomes obvious that by taking $q \rightarrow 1$ and $x + y + z = 1$ in Corollary 2.3, with the help of the symmetric distribution of the classical Bernoulli polynomials $B_n(1-x) = (-1)^n B_n(x)$ for non-negative integer n (see, e.g., [1]), we obtain the result of Sun [28] on the classical Bernoulli polynomials, namely

$$\begin{aligned} (-1)^m \sum_{k=0}^m \binom{m}{k} x^{m-k} \frac{B_{n+k+1}(y)}{n+k+1} + (-1)^n \sum_{k=0}^n \binom{n}{k} x^{n-k} \frac{B_{m+k+1}(z)}{m+k+1} \\ = (-x)^{m+n+1} \frac{m! \cdot n!}{(m+n+1)!} \quad (m, n \geq 0). \end{aligned} \quad (2.9)$$

See also [7, 10] for different proofs of (2.9). It is worth noticing that the formula (2.9) can be used to give the formula of Neuman and Schonbach [25] on the classical Bernoulli numbers. For example, substituting $i-a$ for x and making the summation operation $\sum_{i=1}^{a-1}$ in both sides of (2.5), we get that for non-negative integers a, n ,

$$B_n(1-a) = B_n + (-1)^n n \sum_{i=1}^{a-1} (a-i)^{n-1}. \quad (2.10)$$

Hence, by setting $x = a, y = 0, z = 1 - a$ in (2.9), in light of (2.10) and the familiar binomial theorem, we obtain that for non-negative integers m, n, a ,

$$\begin{aligned} (-1)^{n+1} \sum_{k=0}^m \binom{m}{k} \frac{B_{n+k+1}}{n+k+1} a^{m-k} + (-1)^{m+1} \sum_{k=0}^n \binom{n}{k} \frac{B_{m+k+1}}{m+k+1} a^{n-k} \\ = \frac{m! \cdot n!}{(m+n+1)!} a^{m+n+1} - \sum_{i=1}^{a-1} i^n (a-i)^m, \end{aligned} \quad (2.11)$$

which was considered by Neuman and Schonbach [25] from the point of view of numerical analysis. For different proofs of (2.11), one may consult [2, 6].

3. THE PROOF OF MAIN RESULT

In order to complete the proof of Theorem 2.1, we need the famous q -Chu-Vandermonde summation formula described in [9], as follows.

Lemma 3.1. *Let r be a positive integer, and let ${}_{r+1}\phi_r$ be the basic hypergeometric series defined by*

$${}_{r+1}\phi_r \left[\begin{matrix} a_1, a_2, \dots, a_{r+1}; \\ b_1, b_2, \dots, b_r \end{matrix}; q, t \right] = \sum_{n=0}^{\infty} \frac{(a_1, a_2, \dots, a_{r+1}; q)_n}{(q, b_1, b_2, \dots, b_r; q)_n} t^n \quad (3.1)$$

with $(a_1, \dots, a_m; q)_n = (a_1; q)_n \dots (a_m; q)_n$. Then, for any non-negative integer n ,

$${}_2\phi_1 \left[\begin{matrix} q^{-n}, a_1; \\ b_1 \end{matrix}; q, q \right] = \frac{a_1^n (b_1/a_1; q)_n}{(b_1; q)_n}. \quad (3.2)$$

We next give the detailed proof of Theorem 2.1.

The proof of Theorem 2.1. We firstly state the addition theorem for q -Bernoulli polynomials, i.e., for q -commuting variables x and y such that $xy = qyx$,

$$B_{n,q}(x+y) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q x^{n-k} B_{k,q}(y) \quad (n \geq 0), \quad (3.3)$$

which is easily derived by applying (1.4), (1.5) and the Cauchy product (see also [24, Theorem 2.2] for a similar proof). Let $k \in [0, n]$ and let λ be a variable associated with k . With the help of (3.3), we discover

$$\begin{aligned} \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q (-x)^{n-k} q^\lambda \frac{B_{m+k+r,q}(x+y)}{[m+k+1]_{q;r}} \\ = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q \frac{(-x)^{n-k} q^\lambda}{[m+k+1]_{q;r}} \sum_{i=0}^{m+k+r} \begin{bmatrix} m+k+r \\ i \end{bmatrix}_q x^{m+k+r-i} B_{i,q}(y). \end{aligned} \quad (3.4)$$

If we change the order of the summations in the right hand side of (3.4) then the above identity can be rewritten as

$$\sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q (-x)^{n-k} q^\lambda \frac{B_{m+k+r, q}(x+y)}{[m+k+1]_{q; r}} \\ = \sum_{i=0}^{m+n+r} x^{m+n+r-i} B_{i, q}(y) \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q \begin{bmatrix} m+k+r \\ i \end{bmatrix}_q \frac{(-1)^{n-k} q^\lambda}{[m+k+1]_{q; r}}. \quad (3.5)$$

For convenience, in the following we always denote M by

$$M = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q \begin{bmatrix} m+k+r \\ i \end{bmatrix}_q \frac{(-1)^{n-k} q^\lambda}{[m+k+1]_{q; r}}. \quad (3.6)$$

It is trivial to reduce M. Observe that for any integer r ,

$$\frac{1}{[m+k+1]_{q; r}} = (1-q)^r \frac{(q; q)_{m+k}}{(q; q)_{m+k+r}}. \quad (3.7)$$

Hence, by applying $(q; q)_m = (q; q)_n (q^{n+1}; q)_{m-n}$ for any integers m, n , we obtain

$$M = (-1)^n (1-q)^r \sum_{k=0}^n \frac{(-1)^k q^\lambda (q; q)_n (q; q)_{m+k}}{(q; q)_k (q; q)_{n-k} (q; q)_i (q; q)_{m+k+r-i}} \\ = \frac{(-1)^n (1-q)^r (q; q)_m}{(q; q)_i (q; q)_{m+r-i}} \sum_{k=0}^n \frac{(-1)^k q^\lambda (q^{n-k+1}; q)_k (q^{m+1}; q)_k}{(q; q)_k (q^{m+r-i+1}; q)_k}. \quad (3.8)$$

If we take $a = q^k$ in the following identity (see, e.g., [9, pp. 24]):

$$(aq^{-k-n}; q)_k = \frac{(q/a; q)_{n+k}}{(q/a; q)_n} \left(-\frac{a}{q}\right)^k q^{-kn - \binom{k}{2}}, \quad (3.9)$$

then we get

$$(q^{-n}; q)_k = \frac{(q^{1-k}; q)_{n+k}}{(q^{1-k}; q)_n} (-1)^k q^{-kn + \binom{k}{2}} = (q^{n-k+1}; q)_k (-1)^k q^{-kn + \binom{k}{2}}. \quad (3.10)$$

It follows from (3.8) and (3.10) that

$$M = \frac{(-1)^n (1-q)^r (q; q)_m}{(q; q)_i (q; q)_{m+r-i}} \sum_{k=0}^n \frac{q^{\lambda+kn - \binom{k}{2}} (q^{-n}; q)_k (q^{m+1}; q)_k}{(q; q)_k (q^{m+r-i+1}; q)_k}. \quad (3.11)$$

To determinate the value of the variable λ , with the help of Lemma 3.1, we choose $\lambda = -kn + \binom{k+1}{2}$ and get

$$M = \frac{(-1)^n (1-q)^r (q; q)_m}{(q; q)_i (q; q)_{m+r-i}} \cdot \frac{q^{n(m+1)} (q^{r-i}; q)_n}{(q^{m+r-i+1}; q)_n} \\ = \frac{(-1)^n (1-q)^r q^{n(m+1)} (q^{r-i}; q)_n}{(q; q)_i (q^{m+1}; q)_{n+r-i}}. \quad (3.12)$$

It is easy to see that $(q^{r-i}; q)_n = (1 - q^{r-i}) \cdots (1 - q^{n+r-i-1})$, which means $(q^{r-i}; q)_n = 0$ when $r \leq i \leq n+r-1$ and for $n+r \leq i \leq m+n+r$,

$$\begin{aligned} (q^{r-i}; q)_n &= (-1)^n q^{r-i} \cdots q^{r-i+n-1} (1 - q^{i-r}) \cdots (1 - q^{i-r-n+1}) \\ &= (-1)^n q^{n(r-i) + \binom{n}{2}} \frac{(q; q)_{i-r}}{(q; q)_{i-r-n}}. \end{aligned} \quad (3.13)$$

So if we take $\lambda = -kn + \binom{k+1}{2}$, then we get that for integer $r \geq 1$,

$$M = \begin{cases} \frac{(-1)^n (1-q)^r q^{n(m+1)} (q^{r-i}; q)_n}{(q; q)_i (q^{m+1}; q)_{n+r-i}}, & 0 \leq i \leq r-1, \\ 0, & r \leq i \leq n+r-1, \\ (1-q)^r q^{n(m+1+r-i) + \binom{n}{2}} \frac{(q; q)_{i-r}}{(q; q)_i} \begin{bmatrix} m \\ i-r-n \end{bmatrix}_q, & n+r \leq i \leq m+n+r, \end{cases} \quad (3.14)$$

and for integer $r \leq 0$,

$$M = \begin{cases} 0, & 0 \leq i \leq n+r-1, \\ (1-q)^r q^{n(m+1+r-i) + \binom{n}{2}} \frac{(q; q)_{i-r}}{(q; q)_i} \begin{bmatrix} m \\ i-r-n \end{bmatrix}_q, & n+r \leq i \leq m+n+r. \end{cases} \quad (3.15)$$

Hence, by applying (3.7), (3.14) and (3.15) to (3.5), we obtain

$$\begin{aligned} \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q (-x)^{n-k} q^{-n(m+k+1) + \binom{k+1}{2}} \frac{B_{m+k+r, q}(x+y)}{[m+k+1]_{q; r}} \\ = (-1)^n (1-q)^r \sum_{i=0}^{r-1} x^{m+n+r-i} B_{i, q}(y) \frac{(q^{r-i}; q)_n}{(q; q)_i (q^{m+1}; q)_{n+r-i}} \\ + \sum_{k=0}^m \begin{bmatrix} m \\ k \end{bmatrix}_q x^{m-k} q^{-nk - \binom{n+1}{2}} \frac{B_{n+k+r, q}(y)}{[n+k+1]_{q; r}}. \end{aligned} \quad (3.16)$$

Since $(q; q)_m = (q; q)_n (q^{n+1}; q)_{m-n}$ for any integers m and n then

$$(q^{r-i}; q)_n = (q^{r-i}; q)_{n+r-1-i-(r-1-i)} = \frac{(q; q)_{n+r-1-i}}{(q; q)_{r-1-i}}, \quad (3.17)$$

and

$$(q^{m+1}; q)_{n+r-i} = (q^{m+1}; q)_{m+n+r-i-m} = \frac{(q; q)_{m+n+r-i}}{(q; q)_m}. \quad (3.18)$$

It follows from (3.17) and (3.18) that

$$\begin{aligned} \sum_{i=0}^{r-1} x^{m+n+r-i} B_{i, q}(y) \frac{(q^{r-i}; q)_n}{(q; q)_i (q^{m+1}; q)_{n+r-i}} \\ = x^{m+n+1} \frac{(q; q)_m (q; q)_n}{(q; q)_{m+n+r}} \sum_{i=0}^{r-1} \begin{bmatrix} m+n+r \\ i \end{bmatrix}_q \begin{bmatrix} n+r-1-i \\ n \end{bmatrix}_q \\ \times x^{r-1-i} B_{i, q}(y). \end{aligned} \quad (3.19)$$

Thus, combining (3.16) and (3.19) gives the desired result. This concludes the proof of Theorem 2.1.

ACKNOWLEDGEMENT

The authors express their gratitude to the anonymous referee for his/her valuable suggestions and further guidelines for this paper. This work is supported by the Foundation for Fostering Talents in Kunming University of Science and Technology (KKS201307047) and the National Natural Science Foundation of China (11326050, 11071194).

REFERENCES

- [1] M. Abramowitz, I.A. Stegun, Handbook of Mathematical Functions with Formulas Graphs and Mathematical Tables, National Bureau of Standards, Washington, DC, 1964.
- [2] T. Agoh, K. Dilcher, Convolution identities and lacunary recurrences for Bernoulli numbers, *J. Number Theory*, **124** (2007), 105–122.
- [3] H. Alzer, M.K. Kwong, Identities for Bernoulli polynomials and Bernoulli numbers, *Arch. Math.*, **102** (2014), 521–529.
- [4] L. Carlitz, q -Bernoulli numbers and polynomials, *Duke Math. J.*, **15** (1948), 987–1000.
- [5] L. Carlitz, q -Bernoulli and Eulerian numbers, *Trans. Amer. Math. Soc.*, **76** (1954), 332–350.
- [6] L. Carlitz, Note on some convolved power sums, *SIAM J. Math. Anal.*, **8** (1977), 701–709.
- [7] W.Y.C. Chen, L.H. Sun, Extended Zeilberger's algorithm for identities on Bernoulli and Euler polynomials, *J. Number Theory*, **129** (2009), 2111–2132.
- [8] J. Choi, P.J. Anderson, H.M. Srivastava, Carlitz's q -Bernoulli and q -Euler numbers and polynomials and a class of generalized q -Hurwitz zeta functions, *Appl. Math. Comput.*, **215** (2009), 1185–1208.
- [9] G. Gasper, M. Rahman, Basic Hypergeometric Series, Second ed., Cambridge Univ. Press, Cambridge, 2004.
- [10] Y. He, W.P. Zhang, Some symmetric identities involving a sequence of polynomials, *Electronic J. Combin.*, **17** (2010), Article ID N7.
- [11] Y. He, Some results for Carlitz's q -Bernoulli numbers and polynomials, *Appl. Anal. Discrete Math.*, **8** (2014), 304–319.
- [12] A.S. Hegazi, M. Mansour, A note on q -Bernoulli numbers and polynomials, *J. Nonlinear Math. Phys.*, **13** (2006), 9–18.
- [13] V. Kac, P. Cheung, Quantum calculus, Springer, New York, 2002.
- [14] M. Kaneko, A recurrence formula for the Bernoulli numbers, *Proc. Japan Acad., Ser. A*, **71** (1995), 192–193.
- [15] T. Kim, On a q -analogue of the p -adic log gamma functions and related integrals, *J. Number Theory*, **76** (1999), 320–329.
- [16] T. Kim, S.H. Rim, A note on p -adic Carlitz q -Bernoulli numbers, *Bull. Austral. Math. Soc.*, **62** (2000), 227–234.
- [17] T. Kim, Sums of products of q -Bernoulli numbers, *Arch. Math.*, **76** (2001), 190–195.
- [18] T. Kim, q -Volkenborn integration, *Russ. J. Math. Phys.*, **9** (2002), 288–299.
- [19] T. Kim, q -generalized Euler numbers and polynomials, *Russian J. Math. Phys.*, **13** (2006), 293–298.
- [20] T. Kim, q -Bernoulli numbers and polynomials associated with Gaussian binomial coefficients, *Russian J. Math. Phys.*, **15** (2008), 51–57.
- [21] T. Kim, Some identities on the q -integral representation of the product of several q -Bernstein-type polynomials, *Abstr. Appl. Anal.*, **2011** (2011), Article ID 634675.

- [22] D.S. Kim, T. Kim, q -Bernoulli polynomials and q -umbral calculus, *Sci. China Math.*, **57** (2014), 1867–1874.
- [23] B.A. Kupershmidt, Reflection symmetries of q -Bernoulli polynomials, *J. Nonlinear Math. Phys.*, **12** (2005), 412–422.
- [24] V. Kurt, M. Cenkci, A new approach to q -Genocchi numbers and polynomials, *Bull. Korean Math. Soc.*, **47** (2010), 575–583.
- [25] C.P. Neuman, D.I. Schonbach, Evaluation of sums of convolved powers using Bernoulli numbers, *SIAM Review*, **19** (1977), 90–99.
- [26] C.S. Ryoo, T. Kim, B. Lee, q -Bernoulli numbers and q -Bernoulli polynomials revisited, *Adv. Differ. Equ.*, **2011** (2011), Article ID 33.
- [27] H.M. Srivastava, T. Kim, Y. Simsek, q -Bernoulli numbers and polynomials associated with multiple q -zeta functions and basic L -series, *Russian J. Math. Phys.*, **12** (2005), 241–268.
- [28] Z.W. Sun, Combinatorial identities in dual sequences, *European J. Combin.*, **24** (2003), 709–718.
- [29] H. Tsumura, A note on q -analogues of the Dirichlet series and q -Bernoulli numbers, *J. Number Theory*, **39** (1991), 251–256.

DEPARTMENT OF MATHEMATICS AND SCIENCE, LUOYANG INSTITUTE OF SCIENCE AND TECHNOLOGY, LUOYANG, HENAN 471023, PEOPLE'S REPUBLIC OF CHINA
E-mail address: henanyyh@163.com

FACULTY OF SCIENCE, KUNMING UNIVERSITY OF SCIENCE AND TECHNOLOGY, KUNMING, YUNNAN 650500, PEOPLE'S REPUBLIC OF CHINA
E-mail address: hyyhe@aliyun.com,hyyhe@outlook.com